=
o
N

1/o0 do/dC

=
o

1071

1072

Ratio to ALEPH

0.5

*/Z (Hadronlc)

I
=]

206 Ge\( ee

—+— Pythia 6. 427 3

ALEPH ~

oy

.‘ @
. ‘\

mcplots.cern.ch [arXiv:1306.3436]

---&-- Pythia 6.427 351

- ¥-- Pythia 6.427 352 “

----- A~ Pythia 6.427 353 N .
| --6-- Pythia 6.427 354 "??:\;;:A _
—  ---- Pythia 6.427 355 \]g -
IR i Pythia 6.427 356 ]
B Pythia 6.427 357 7
B Pythia 6.427 358 B
| ---=-- Pythia 6.427 359 —
n | | | | | , | | I
:l T T T T T T T |:
v k. A ]
- AT A -
— ‘\ _‘ Wﬂg\\“ /;«’J&"&“\*’\_‘R \\\ ]
B - i R SN 7
L / . . -
-4 \ A .
— Il ~\‘ \\\\ ]
| S 1
| ‘I , ] ] ] , ] ] ] \" ] |
0 0.5 1

Rivet 3.1.10, = 300k events

N

0.5



	Contents
	Page 1


